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1. A 6-digit number is formed by repeating a 3-digit number; for example, 256256 or 678678 etc. Any number of this form is always exactly divisible by

a. 7 only
b. 11 only
c. 13 only
d. 1001
Answer. d

2. The traffic light at three different signal points change after every 45 seconds, 78 seconds and 90 seconds respectively. If all change simultaneously at 7
: 20 : 15 hours, then they will change again simultaneously at

a.7:28:00 hours
b. 7 : 27 : 45 hours
c.7:27:30 hours
d. 7:27: 50 hours
Answer. b

3. In a regular weeek there are 5 working days and for each day, the working hours are 8. A man gets Rs-24 per hour for regular work and Rs-32 per hour
for overtime. If he earns Rs-4320 in 4 weeks, then how many hours does he work for?

a. 160
b. 175
c. 180
d. 195

Answer. b

4. The average of a non-zero number and its square is 5 times the number. The number is

a.9

b. 17

c. 29

d. 295
Answer. a

5. A two-digit number exceeds the sum of the digits of that number by 18. If the digit at the unit's place is double the digit in the ten's place, what is the
number?

a. 24



b. 42

c. 48

d. Data inadequate
Answer. a

6. The difference between a two-digit number and the number obtained by interchanging the dogits is 36. What is the difference between the sum and the
difference of the digit of the number if the ratio between the digits of the numberis 1:2 ?

a.4

b. 8

c. 16

d. None of these
Answer. b

7. In a class of 72 children, childen are seated in rows and columns in such a way that the number of children in each row is 12.5% more than the number
of children in each column. How many children are there in each row ?

a. 8

b.9

c. 12

d. 18
Answer. b

8. A person bought 20 litres of milk at the rate of RS-8 per litre. He got it churned after spending RS-10 and 5Kg of cream and 20 litres of toned milk were
obtained. If he sold the cream at Rs- 30 per kg and toned milk at Rs-4 per litre, his profit in the transaction is

a.25%

b. 35.3%
c. 37.5%
d. 42.5%

Answer. b

9. By selling a bicycle for RS-2850, a shopkeeper gains 14%. If the profit is reduced to 8% then the selling price will be

a. 2600
b. 2700
c. 2800
d. 3000
Answer. b

10. A sum of Rs-12540 is divided among A, B and C so that A may receive 3/7 of what B and C together receive and B may receive 2/9 of what A and C
together receive. The difference in the shares of A and B is

a. Rs- 1482
b. Rs- 2736

c. Rs-4218



d. Rs- 4320
Answer. a

11. If a certain number of workmen can do a piece of work in 25 hours, in how many hours will another seet of an equal number of men, do a piece of
work, twice as great, supposing that 2 men of the first set can do aas much work in an hour, as 3 men of the second set do in an hour?

a. 60

b. 75

¢. 90

d. 105

Answer. b

12. Deepa rides her bike at an average speed of 30 km/hr and reaches her destination in 6 hours. Hema covers the same distance in 4 hours. If Deepa

increases her average speed by 10 km/hr and Hema increases her average speed by 5 km/hr, what would be the differencein their time takeen to reach the
destination ?

a. 40 minutes
b. 45 minutes
¢. 54 minutes
d. 1 hour

Answer. ¢

13. A train 240 m long passed a pole in 24 seconds. How long will it take to pass a platform 650 m long ?

a. 65 sec
b. 89 sec
c. 100 sec
d. 150 sec
Answer. b

14. The difference between the simple interest received from two different sources on Rs- 1500 for 3 years is Rs- 13.50. The difference between their rates
of interest is

a.0.1%
b. 0.2%
c. 0.3%
d. 0.4%
Answer. ¢

15. On a sum of money, the simple interest for 2 years is Rs- 660, while the compound interest is RS- 696.30, the rate of interest being the same in both
the cases. The rate of interest is

a. 10%
b. 10.5%
c. 12%

d. None of these



Answer. d

16. A carpenter is designing a table. The table will be in the form of a rectangle whose length is 4 feet more than its width. How long should the table be if
the carpenter wants the area of the table to be 45 sq ft ?

a. 6 ft

b. 9 ft

c. 11 ft

d. 13 ft
Answer. b

17. A cube of white chalk is painted red, and then cut parallel to the sides to form two rectangular solids of equal volumes. What percent of the surface
area of each of the new solids is not painted red ?

a. 15%
b. 16% %
c. 20%
d. 25%

Answer. ¢

18. A clock is started at noon. By 10 minutes past 5, the hour hand has turned through

a, 145°
b. 150°
c. 155°
d. 160°
Answer. ¢

19. A cricket team of 11 players is to be formed from 20 players including 6 bowlers and 3 wicketkeepers. The number of ways in which a team can be
formed having exactly 4 bowlers and 2 wicketkeepers is :

a.20790
b. 6930

¢. 10790
d. 13690
Answer. a

20. Two ships are sailing in the sea on the two sides of a lighthouse. The angles of elivations of the top of the lighthouse as observed from the two ships
are 30° and 45° respectively. If the lighthouse is 100 m high, the distance between the two ships is.

a.173 m
b. 200 m
c.273m
d. 300 m

Answer. ¢



21. Which indian king issued a silver coin and termed it as Rupiya in the 16th century ?

a. Hemu

b. Krishnadevaraya
c. Sher Shah Suri
d. Akber

Answer. ¢

22. In which month, as per the Hindu calender, is the birth anniversary of Lord Mahavir Swami celebrated?

a. Chaitra
b. Kartik
c. Magha
d. Vaisakha

Answer. a

23. Who among the following has served the office of the Prime Minister of India for more than one term?

a. Rajiv Gandhi

b. MorarjiDesai

c. Inder KumarGujral
d. Atal Bihari Vajpayee

Answer. d

24. Lucifer is another name for the planet

a. Jupiter
b. Saturn
c. Venus
d. Mars

Answer. ¢

25. By what name is the combined water stream of Ganga and Brahmaputra known ?

a. Padma

b. Jamuna
c. Meghna
d. Tsangpo

Answer. ¢

26. The GDP deflator is also called :

a. implicit inflation index

b. explicit inflation index



c. implicit price deflator
d. explicit price deflator

Answer. ¢

27. Which of the following provides a definite shape to cells ?

a. Nucleus

b. Membrane

c. Mitochondria
d. Ribosomes

Answer. b

28. Which of the following is a symptom of iodine deficiency in the body ?

a. Sudden weight loss

b. Convulsion

c. Swelling of thyroid glands
d. Night blindness

Answer. ¢

29. In the field of Information and communication technology, What is the full form of FDD?

a. Folder Disk Drive
b. Floppy Disk Drive
c. Folder Data Drive
d. Floppy Data Drive

Answer. b

30. Who is the first Indian to be awarded the Nobel Prize in Physics?

a. Subramanyan Chandrashekhar
b. Venkatraman Ramakrishnan

c¢. Har Govind Khorana

d. Chandresekhara Venkata Raman

Answer. d

31. Who among the following personalities has written the National Song "Vande Mataram'?

a. Sarojini Naidu

b. Bankim Chandra Chattopadhayay
c. Rabindra Nath Tagore

d. Sri Aurobindo

Answer. b



32. Who among the following had authored the book ' A Nation in Making'?

a. Madan Mohan Malviya
b. Pherozeshah Mehta

c. Gopal Krishan Gokhle
d. Surendranath Banerjee
Answer. d

33. As per WHO (World Health Organization), which of the following is NOT an example of disinfection by products formed at traditional drinking water
treatment plants?

a. Titania

b. Bromate
c. Chlorate
d. Chlorite

Answer. a

34. When did the Constitution of WHO come into force - a date which we now celebrate as World Health Day every Year?

a. 5 April, 1948
b. 7 April, 1948
c. 6 April, 1948
d. 8 April, 1948

Answer. b

35. Which kind of sport is bungee jumping ?

a. Adventure Sport
b. Recreational Sport
c. Para Sport

d. Special Sport

Answer. a

36. Which of the following countreis never organised Olympic games?
a. South Africa

b. Australia

c¢. Japan

d. China

Answer. a

37. As of 10 April 2022. who among the following is the Governer of Tamil Nadu?

a. Banwarilal Purohit



b. RN Ravi
c. Jagdish Mukhi
d. C Vidyasagar Rao

Answer. b

38. In December 2022. who swornin as the Chief Minister of Gujarat?

a. Vijay Rupani

b. Bhupendra Rajnikant Patel
c. Hardik Patel

d. Anandiben Patel

Answer. b

39. As announced by the Ministry of Finance in January 2021, external debt as a ratio to GDP stood at at the end of September 2020.

a.21.6%
b. 18.2%
¢ 16.9%
d. 14.4%

Answer. a

40. As per the provisions of Union Budget 2021-22, how many public sector banks have been lined up for disinvestment ?

a. Seven
b. Three
c. Two
d. Five

Answer. ¢

essay 1 eng :

D.H. Lawrence (1885-1930): The Supreme Triumph For man, the vast marvel is to be alive. For man as for flower and beast the bird, the supreme triumph
is to be most vividly, most perfectly alive. Whatever the unborn and the dead may know, they cannot know the beauty, the marvel of being alive in the
flesh. The dead may look after the afterwards. But the magnificent here and how of life in the flesh is ours, and ours alone, and ours only for a time. We
ought to dance with rapture, that we should be alive and in the flesh. and part to the living. incarnate cosmos. I am part of the sun as my eye is the part of
me. That [ am part of the earth my feet below knowthe perfectly, and my blood is part of the sea. My soul knows that [ am a part of the human race, my
soul is an inorganic part of the great human soul, as my spirit is a part of my nation. In my own very self, I am part of my family. There is nothing of me
that is alone and absolute except my mind, and we shall find that the mind has no existance by itself, It is only the glitter of the sun on the surface of the
waters. -- Apocalypse, 1931.

41. By Triumph the author means:

a. Sin

b. Loss

c. Sorrow
d. Victory

Answer. d



42. When the dead look after the afterwards the living should look at life:

a. Forever

b. For some months

c. For only a short while
d. In the past

Answer. ¢

43. By rapture the author means an emotion involving great:

a. Trepidation
b. Thrill

c. Fear

d. Joy

Answer. d

44. By the last linee, "It ................ Waters," the author means that the mind is only:

a. A mirage

b. An illusion
c. Magic

d. A reflection

Answer. d

45. The tone of this passage is:

a. Social

b. Moral

c. Reflective

d. Philosophical

Answer. d

46. The most suitable title for this passage would be:

a. The surface of the waters.
b. My Mind

c¢. The Human Race

d. Allive and Kicking.

Answer. d



essay 2 eng :

Now India's children have a right to receive at least 8 years of education, the gnawing question is whether it will remain on paper or become a reality. One
hardly needs a reminder that this right is different from the others enshrined in the Constitution, that the beneficiary - a 6-year-old child cannot demand it,
nor can she or he fight a legal battle when the right is denied or violated. In all cases, it is the adult society which must act on behalf of the child's right to
education when denied, no compensation offered later can be adequate or relevant. This is so because childhood does not last. If a legal battle fought on
behalf of a child is eventually won, it may be little use to the boy or girl because the opportunity missed at school during childhood cannot serve the same
purpose later in life. This may be painfully true for girls because our society permits them only a short childhood, if at all. The Right to Education (RTE)
has become law at a point in India's history when the ghastly practice of female infanticide has resurfaced in the form of foeticide. This is 'symptomatic of
a deeper turmoil' in society which is compounding the traditional obstacles to the education of girls. Tenacious prejudice against the intellectual potential
of girls runs across our cultural diversity and the system of education has not been able to address it.

47.

With reference to the passage, consider the following statements: 1. When children are denied education, adult society does not act on behalf of them. 2.
Right to Education as a law cannot be enforced in the country. Which of the statements given above is/are correct?

a. 1 only

b. 2 only

c. Both 1 and 2
d. Neither 1 nor 2

Answer. d

48.
According to the passage, what could be the traditional obstacle to the education of girls? 1. Inability of parents to fight a legal battle when the Right to

Education is denied to their children. 2. The traditional way of thinking about girls' role in society. 3. The prejudice against the intellectual 'potential of
girls'. 4. Improper system of education. Select the correct answer from the codes given below:

a. 1 and 2 only
b. 2, 3 and 4 only
c. 1,3 and 4 only
d.1,2,3and 4

Answer. b

49.
On the basis of the passage, consider the following statements: 1. Right to Education is a legal right and not a fundamental right. 2. For realising the goal

of universal education, the education system in the country must be made identical to that of developed countries. Which of the statements given above
is/are correct?

a. 1 only

b. 2 only

c. Both 1 and 2
d. Neither 1 nor 2

Answer. a

50. Which one of the following statements conveys the key message of the passage?

a. India has declared that education is compulsory for its children.

b. Adult society is not keen on implementing the Right to Education.



c. The Right to Education, particularly of a girl child, needs to be safeguarded.
d. The system of education should address the issue of Right to Education.

Answer. ¢

51. Which one of the following statements conveys the inference of the passage?

a. The society has a tenacious prejudice against the intellectual potential of girls.

b. Adults cannot be relied upon to fight on behalf of children for their Right to Education.
c. The legal fight to get education for children is often protracted and prohibitive.

d. There is no sufficient substitute for education received in childhood.

Answer. d

essay eng 3 :

Directions for the question : In each of the following sentences, four options are given. You are required to identify the best way of writing the sentence in
the context of the correct usage of standard written English. While doing so, you have to ensure that the message being conveyed remains the same in all
the cases.

52. The reason I came late to office today is because my car broke down.

a. The reason I came late to office today is because my car broke down.
b. Why I came late to office today is because my car broke down.

c. The reason I was late to office today is because my car broke down.
d. The reason I came late to office today is that my car broke down.

Answer. d

53. The soldiers were told to take a long arduous hike, pitch their camps, have dinner, and that they should be in bed by 10 p.m.

a. The soldiers were told to take a long arduous hike, pitch their camps, have dinner, and that they should be in bed by 10 p.m.
b. The soldiers were told to take an arduous hike, pitch their camps, have dinner, and that they should be in bed by 10 p.m.

c. The soldiers were told to take a long arduous hike, pitch camp, have dinner, and be in bed by 10 p.m.

d. The soldiers were told to take a long arduous hike, pitching their camps, have dinner, and be in bed by 10 p.m.

Answer. c

essay eng 4 :
Directions: In each of the questions, a word has been used in sentences in four different ways. Choose the option corresponding to the sentence in which
the usage of the word is incorrect or inappropriate.

54. ACT.

a. When you read a story or a poem to your child, act it out with him or her.
b. This computer's acting up again

c. The children were acting over because their mother wasn't there



d. The script itself is well written and well acted out by the cast.

Answer. ¢

55. Hand.

a. He was handing out free tickets for the concert.

b. The minister handed in his resignation when it was known that he was implicated in the scandal.
c. Have things changed since the hand over of sovereignty from the British to Koreans?

d. Hand up your coat and come and join us.

Answer. d

56. Ali's horse is of an excellent........................

a. brood
b. steed
c. breed
d. stood

Answer. ¢

57. The president has ................... To the demands to release secret documents related to the army.

a. acceded
b. refused
c. endorsed
d. incited

Answer. a

58. Martin Luther strived for justice and fought against attempts to ................... Ignorant peasants in the medieval ages.

a. Influence
b. change
c. exploit
d. corrupt
Answer. ¢

59. Author Anjali Aggarwal was a rare phenomenon, a single woman who maintained and even .............. A respectable reputation while earning a living
by her pen.

a. impaired
b. decimated
c. avoided
d. enhanced

Answer. d



60. (A) Handsome in his tuxedo. (B) Lanky at his high school prom. (C) Matthew with the striped kitteen-had he been five? (D) At ten-smiling in his
yellow soccer jersey. (E) Throught the TV replays of the collapsing Trade Towers, Michael's glance shifted from one framed photo to the next.

a. ECDBA
b. ABCDE
c. ECBDA
d. DABCE

Answer. a

essay eng 5 :

Directions s for Questions : Sprinters in Olympics running on the track are carrying numbers from 1 to 7 at the back of their vests. They complete the race
when their feet touches the finish line at 9.10, 9.20, 9.30 seconds till 9.7 seconds i.e. at an interval of one milli second each. Each athlete is ranked from 1
(for the fastest) to 7 (for the slowest). The following additional information is known: (i) The square of the highest total of the vest number and rank is
169 which occurs only once. (ii) The square of the lowest total of vest number and rank is 16 and occurs only once. (iii) The square of the total of vest
number and rank = 81, occurs thrice. (iv) The winners' vest no. exceeds that of the first runner up.

61. The vest number of the sprinter coming first is:

a.3
b. 6
c. 1
d.5

Answer. b

62. The sprinter number finishing second is:

b. 6
c.4
d.3

Answer. d

63. The sprinter number finishing third is:

a.6
b.3
c.l
d.2

Answer. d

64. The sprinter number finishing last is:



a.7
b.2
¢S
d. 1

Answer. b

65. The sprinter number finishing last but one is:

Answer. a

66. A solid cube is painted red on all its faces. The cube is then cut into 120 smaller but equal pieces by marking the minimum number of cuts. How many
smaller pieces are not painted at all?

a.2

b. 6

c.4

d. None of these

Answer. b

67.

Directions for Questions :the below are given three statements followed by four conclusions numbered I, 11, I1I and IV. You have to take the three given

statements to be true even if they seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given
conclusions logically follow(s) from the given statements disregarding commonly known facts.

Statements: (A) All principals are men (B) Some women are principals (C) All humans are women

Conclusions: 1. All humans are men II. Some humans are principals III. Some men are principals IV. All women are men

a. Only I follows

b. Only II follows

c. Only I and 111 follow

d. Only III follows

Answer. d

essay 6 eng :
Directions for Question: Each question con- tains six statements, followed by four options of combina- tions of any three of the given sentences. Choose
the option in which the combinations are logically related



68.

(A) All Martians eat sausages (B) All those who eat sausages are not Martians (C) All those who eat sausages are herbivorous (D) All Martians are
carnivorous (E) All those who eat sausages are carnivorous (F) Martians are herbivorous.

a. BCE
b. ABE
c¢. ACD
d. ACF

Answer. d

69.

(A) All lotuses have flowers (B) All lotuses have nectar (C) All plants with nectar have flowers (D) All shrubs have lotuses (E) All shrubs have nectar (F)
Some lotuses have flowers

a. BEF
b. BCF
¢. BDE
d. ACF

Answer. ¢

70.

(A) No summer is a season (B) Some seasons are summers (C) Some seasons are winters (D) No seasons are winters (E) Some summers are not winters
(F) All summers are winters

a. DFA
b. BEF
c. CEB
d. DEB

Answer. a

71. (A) All falcons fly high (B) All falcons are blind (C) All falcons are birds (D) All birds are yellow (E) All birds are thirsty (F) All falcons are yellow

a. ABC
b. CDF
c¢. DEF
d. BCA

Answer. b

72.7, 28,70, 140, ?

a. 240

b. 250



c. 245
d. None of these

Answer. ¢

essay eng 7 :
Directions for Question: Read the following information to answer the questions: E + F means E is brother of F.

E-F means E is sister of F.  E x F means E is father of F. E /F means E is mother of F.

73. If P+Q-R x S, then P is S's .

a. Grandmother
b. Maternal grandmother
¢. Maternal Aunt

d. Sister

Answer. Bonus is awarded for this question to all the candidates

74. Which of the following shows that T is the grandmother of W ?

aTxU+V/W
b. T+U-V/W
c¢.T+U/VxW
d.T/U-VxW
Answer. d

75. A man started walking towards north, he walks 10 metres and then turns to his right, walks 5 metres and turns to his right again and walks 10 metres
and turns to his left, walks 7 metres and then turns to his right. At this point in which direction is he facing?

a. Bast

b. South

c. Southeast
d. Southwest

Answer. b

76. If in a certain code if 'GIRISH' is written as 70 and '/RAM' is written as '32'. What should be the code of 'PIKU' in the same coding language?

a. 57
b. 55
c. 56
d. 58

Answer. a



ESSAY 8 ENG :
Directions for Questions : Answer the questions on the basis of the data presented in the figure below :

Mid-year prices of essential commaxdities

3 8
i
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77. During 1996-2002, the number of commodities that exhibited a net overall increase and a net overall decrease, respectively, were

a. 1 and 3.
b.2 and 4
c.4and 2
d.5and 1

Answer. c

78. The number of commodities that experienced a price decline for two or more consecutive years is.

d.5

Answer. d

79. For which commodities did a price increase immediately follow a price decline only once in this period ?

a. Rice, Edible oil, and Dal
b. Egg and Dal

¢. Onion only

d. Egg and Onion

Answer. d



ESSY9 ENG:
Directions for Questions : The following pie chart shows the hourly distribution (in degrees) of all the major activities of a student

Others

80. The percentage of time which he spends in school is.

a.37%
b. 30%
c. 40%
d. 27%

Answer. b

81. How much time (in per cent) does he spend in games in comparison to sleeping?

a.30%
b. 35%
c.25%
d. None of these

Answer. ¢

82.

If he spends the time in games equal to the home work and remains constant in other activities, then the percentage decrease in time of sleeping (assume
that all the extra game time came from reducing sleeping time):

a. 15%

b. 12.50%
c.20%

d. None of these

Answer. b

83. What is the difference in time (in hours) spent in school and in home work?

b.3



c.4
d. 8

Answer. ¢

84. If he spends 1/3rd time of homework in Mathematics then the number of hours he spends in rest of the subjects in home work:

d. 4

Answer. b

ERT:
Directions for Questions :Refer to Table 9.1 and answer Questions 1-5.

85. The highest percentage change in the value between 1999-2000 and 1994-95 was exhibited by which segment?

a. Imports

b. Exports

c. Industrial Production
d. GDP at factor cost

Answer. a

86.

The maximum change in the trade deficit (defined as Imports-Exports) was shown for which year? [Assume that in 1993-94 imports were at 10,383 crore
and exports were at 5,427 crore.]

a. 1996-97

b. 1998-99

¢. 1999-2000

d. Cannot be determined

Answer. ¢



87. How many segments have shown a greater than 50% increase in their values in 1999-2000 over 1994-95?

d.5

Answer. b

88. What would have been the answer for Question 3, if the figure shown in the graphs were all simple annual growth rates?

a. 1
b.2
c.3
d. 4

Answer. b

89. If the ratio of imports to exports had been 1.8:1 in 1993-94, then what would be this ratio at the end of 1996-97?

a. 1.8:1
b. 1.86:1
c. 2.1:1
d. 1.91:1

Answer. b

Table 28.1 Projected Food Grain Requirements—Global

and US
{Demand in billion kilogram)
2005 2015 2025

World  America World Amenica World America

Wheat 100.0 8 140 20 180 30

Rice 60.0 1 80 3 100 10

Gram 100.0 8 120 10 150 20

Cormn 20.0 1 40 2 50 2.6

Pulses 20.0 2 20 3 40 4.0

ESSAY 10ENG : Total 300.0 20 400 40 500 66.6

Directions for Questions : Study Table 28.1 and answer the questions given below that.

90. The proportion of which food grain in total food demand has decreased continuously over the period 2005 to 2025?

a. Rice

b. Gram

¢. Corn

d. None of these

Answer. d



91.

Which is the grain whose proportion in the total food demand remained constant over the period 2005-2025, but whose proportion increased in the total
food demand of America?

a. Gram
b. Corn
c. Pulses
d. Rice

Answer. d

92. Which two grains meet more than 60% of the total food demand of the both world and America in 2005 to 2025?

a. Wheat and Rice
b. Wheat and Gram
c. Rice and Pulses

d. None of the above

Answer. b

93.

The proportion of which grains demand increased over the period 2005 and 2015 and decreased over the period 2015 to 2025 for both the world and
America?

a. Wheat

b. Rice

c. Gram

d. None of these

Answer. a

ESSAY 111 ENG :
Directions for the quesstions : Refer to the following table ( Table 19.1)

94.

How many areas shown will Mr. Vinay Srivastava be able to purchase a 1000 sq.ft flat in if he wants to invest up to Rs 25 lakh? (He has a saving of Rs 25
lakh upon retirement.)



d. None of these

Answer. d

95. The highest possible value of the rent/sq. ft. is for:

a. Cuffe Parade, Churchgate
b. Malabar Hill, Breach Candy
c. Vasant Vihar (Grade A)

d. Cannot be determined

Answer. d

96. The ratio of the highest possible rent/sq ft to the lower possible rent/sq ft from amongst the areas exhibited is :

a. 25
b. 20
c. 15
d. Cannot be determined

Answer. d

ESS12:
Directions for Questions : These questions are based on the following information. Two faces of a cube are painted pink, other two faces are painted
black and the remaining faces are painted brown. Now the cube is cut into 64 smaller but identical pieces with minimum possible number of cuts.

97. What is the minimum possible number of smaller pieces with exactly two different colors on them?

a. 18
b. 21
c. 24
d. 26

Answer. d

98. What is the maximum possible number of amaller pieces, which have at most one color on them?

a.32

c.24

d. 38



Answer. d

ES:
Directions () in each of the following questions, select the related word/words pair/number/letters group from the given alternatives.

99. Son : Nephew : : Daughter : ?

a. Niece

b. Sister-in-law
c. Sister

d. Mother

Answer. a

100. Ring : Ear : : 7 ? Wrist

a. Pendant
b. Chain
c. Bangle
d. Ribbon

Answer. ¢
Test Question Language:- HINDI

1.T& 6 P! T & TF 3 3@ ¥e gl fafgel &R dR &, Iareeond, 256256 fFar 678678. a1 USRT TBIAT 6H! HIU@ T8I U Sl

a. 7 dd
b. 11 ®ad
c. 13 ad
d. 1001

Answer. d

2. e e @1 i Ity vore R oide omkd & vd® 45 I, 78 Adbe 3l 90 b H! FEeiard. SR ¥d UsMeme 7 : 20 ¢ 15 amed sead, @
d g1 Pl eada

a.7:28:00d™
b.7:27:45d9
c.7:27:30TN
d.7:27:50 9
Answer. b

3. UH 3fodedd AUl 5 e fiaw erdra il U fash, 8 O S| . ThT il Uh aramie! Faflide™ & @ 2 24 fiesdrd sifir T 32 Siar
HAT BN FHBard. SR T AR 4 oasaided, T 4320 T HAR Holl, a1 HddH fhdl aadt &M Ha?

a. 160



b. 175
c. 180
d. 195

Answer. b

4. I A0 TG T g AT ST 5 U 3R, E TRAT FHI0rht

a.9
b. 17
c.29
d. 295

Answer. a

5.T% g St T g foear ud Sihem SR 18 Y WIRd MR, SR Udhd RIMIGR e U& aRI6 MU gue 3fd R <t T HIord?

a.24

b. 42

c. 48

d. e aguf o
Answer. a

6.TH SH St Ta oNfr sipieh sieaaed FedHaR AU TB, A1 GF TBT AP 36 SadT TR 3g. SR W= Sipmela ol 1:2 oRid @ & e
T o TS SiHT WRb AT HT TR HaA?

c. 16
d. Tt SR A

Answer. b

7. 72 gate qiEs, go § I Sffr oesedn IMHE AN, R SUaHl UAS TSl A W1 I SR Jerder 12.5% SRd gd 3MRd. R UdS SISl
a7 et smea?

Answer. b

8. TP i T 8 forex aRM 20 Riex g 3Murel. 10 308 W & AeR Uitk et onftr 5 fpa wiH oty 20 e @ gy fwad. SR @i Al #3230
ufd el &R offtr 39 gy T4 Ufd feR a1 A faedl, R 1 agRId AT Brgal bt e

a.25%
b.35.3%

¢. 37.5%



d. 42.5%

Answer. b

9. T% W& d X 2850 & fawell, R GHMGRIAT 14% BIGT M. SR GHHGRIAT BRIHE 8% UT Il oA R 1 Idad! faprd! fbad faset

a. 2600
b. 2700
c. 2800
d. 3000
Answer. b

10. % 12540 §t XdHH A, B 3ifd1 C aieamed SN UgdA aredl, Bt A a1 aiten B ot C o el e Ibaan 3/7 39md T offtr B e A offor C @
freTae THa IS 2/9 SA! G Tel. R A T B T fewaren weaHe fhdt v e

a, &- 1482
b. ¥- 2736
c. ¥-4218
d. ¥-4320
Answer. a

11. SR &A% T SR TEE S 25 dRId H& edld, R ddedrd A0—IHNS!T g1 A0 Fdt a/a o Hd, gue W HH ovd, 3 ga ufged
Fardid 2 AN THT I Sidg $1H He HAld, daegd HIH gl Sardiid 3 A0 TH IR He b’

a. 60

b. 75

¢. 90

d. 105
Answer. b

12. for o=t W 30 il IR SEE Tead onfdr 6 A e AR UEEd. 391 89 3R 4 I UR HRd. R U foer SR 9 ant 10 e A
qreaen 3T 39 fa=r W 3 At 5 f&rdt 3 gredan, R Tide AT GiEkvaT Il dod B WRe Usd ?

a. 40 e
b. 457
c. 54 e
d. 1™

Answer. ¢

13. 240 Hex AR ¢ 24 Ve TH Wi UR HRd. 650 Hex dieEl Wewd gR FRugMmd! fadt 3@ ana?

a. 65 g
b. 89 Jdhq
c. 100 dbe
d. 150 Iba

Answer. b



14, &9 gufard} 1500 IUaiaR SH ITATe Widieg fH@um=a e Fdd BReb 13,50 IUY T8, ARl ATSIeRdId B 3T 38

a.0.1%
b. 0.2%
¢. 0.3%
d. 0.4%

Answer. ¢

15. 4 Iufardl T AN 660 IO 3R, R Fshdle oS 696.30 IUY 3R, Cel dedld AR JHH 3R, TR 3T 3R

a. 10%

b. 10.5%

c. 12%

d. Fret SR AR
Answer. d

16. 7% AR TS 290 ST IRG Y. o901 MR TR ST S il Arear Selven 4 e FRd 3H1E. GaRTal 9ar wes 45 IRY B 3™
3 dled ¥ R <9d fbd! G 3[TA?

a. 6 Ppc
b. 9 e
c. 11 e
d. 135¢

Answer. b

17. TP WSURH 0] o9 ihedral drd T el Gk A1ell GF SMaidal PRI =T UG HIUd B aldid AHRAM IRET 38d, a8 T Al
TGl SR YdS JRUTTE fhdt eob &t § ard T ifa A

a. 15%
b. 16% %
c. 20%
d. 25%

Answer. d

18. T USAI® 12 =1 BN ¥ . @ 5 e[ 10 e amran @rer fad feght qof et

a. 145°
b. 150°
c. 155°
d. 160°
Answer. ¢

19. 20 TBTEHYA IIW@WWWWWWG&W@6WW3W@WW%4%%&[2&@?@%@?&1%
it fodt amit wxar 3a



a.20790
b. 6930

c. 10790
d. 13690
Answer. a

20. THT URUTAT 6] SIo[E GHEIT GIF SgTo fhRd SR, Tlel SeTeiHyy UIfeenmm dukdy=ar Jra BIF SHE 30° Sfr 45° SmRd. € 100 Hiex $9

a. 173 Hiex
b. 200 Hiex
c. 273

d. 300 fiex

Answer. ¢

21. GSTAT BT YRAA SO IS i A0 IR odl 31f01 Qren s o/ A9 fae 2

2.39

b. FURCRE
¢. TRTE T
d. 3FR

Answer. ¢

22. &g UAFTER WM AeTdR Wil i Sadt Sivrn Afg=ard et sl o ?

a. 3
b. Ffcie
c. "HIY
d. e

Answer. a

23. Treliat®t vl THTOET R 5T HRARAT Yaueuaar &1H dha 3MR?

a. Xoig et
b. TRRS W

¢. 38 PAR ORI
d. 3cd fogrl arend

Answer. d

24, GRBR T1 TER U T T TR,

a. =
b. =

. h



d. 71

Answer. ¢

25, T ST SEIGAAT THRAG Savdlg Hiorl AaH siiegar Sl 2

a. =TT

b. ST
c. g
d. g

Answer. ¢

26. GDP feuiexen 3rigt wu@rd :

a. 3fdfifed wemg Fdwie
b. Wy TerTE Féwie
c. SfaffRa e femerex
d. @y fbud REwicR

Answer. ¢

27. Trefiete! Hua 9= AT SR uem v ?

a. gfaasr

b. TG

¢. TSI
d. TSR

Answer. b

28. Tileie! BV AU IR TSI HHRAT A0 3MR?

a. 3EFS Io HH B0
b. SHSt

¢. YRRIEE T 9o 30
d. R sty

Answer. ¢

29. AR T THUEHU TR & Theled U WEU I IR?

2. Bl % gR®
b. Wil 5 gE=
c. HIes? ¢l SR_®
d. Tardt 31 IRE

Answer. b

30. Wi Aow ROR A@auRT Uiz URdT Hior 3mg?



a. GOHUIH FERR
b. IHCIAU IHFUH
¢. &R Tifde Ton

d. TERTR IHT WU

Answer. d

31. Trefid SIS DIV FRiH 'dg HIORA' § AP MO AR 3me?

a. W TG

b. sfrmds Fgiuem
c. gy TR

d. &t sRfaq

Answer. b

32. @6 U9} HIUET ade T ARE 3 Ak § e [afkd e

a, He Higd Hdg
b. fRrer=E Hed
c. MUl HWT TRad
d. Q&Y Sl

Answer. d

33. WHO (Ffies SR WeerT) TR, TIeia 9 10l URURS UToared] JeieRur dard Hafor giomar Fefgaiason S 3argRul Agt?

a. TSR
b. siHe
¢. FRE
d. FIRTET

Answer. a

34. WHO a1 Wfey™ FegT aF] el - T ari@ R omgur &R aff snifae SiRia fad e oRT $Ral?

a. 5 Ui, 1948
b. 7 Ta, 1948
c. 6 Ufd, 1948
d. 8 ufi, 1948

Answer. b
35. S5t SR g1 0T TUHRMET TS 3MR?
a. UEE W

b. FIRG® &
c. Wy |



d. a9y @e

Answer. a

36. Trehd Hiorn S HefEl IRt Siicite Ve e dad A1gl?

a. TRUT 3MThepT
b. sifefmr

¢. S

d. <=

Answer. a

37. 10 ufdret 2022 i, Wiefieie! dfierTgen Isqure S0 g 2

a. TTARIAE QRifed
b. 3R.GA.
c. Se gt
d. . fegrrR 1@

Answer. b

38. f&¥sR 2022 78, ORI GBIHAT UG QU HIU gaat?

a. fasy wurft

b. 1iis A Tew
c. BT wea

d. 3dle ged

Answer. b

39, onfifes TR THaRT 2021 A STER ForedT HIfedigaR, PR 2020 =0 &g §1el &S GDP =1

a.21.6%
b. 18.2%
c. 16.9%
d. 14.4%

Answer. a

40, TR 2021-22 =1 G AR, fadl WeR dhie fawird! FaeH sxuad ofd s

a. gqid
b. dH
c. 3
d. g

Answer. ¢

YA B



essay 1 eng :

D.H. Lawrence (1885-1930): The Supreme Triumph For man, the vast marvel is to be alive. For man as for flower and beast the bird, the supreme triumph
is to be most vividly, most perfectly alive. Whatever the unborn and the dead may know, they cannot know the beauty, the marvel of being alive in the
flesh. The dead may look after the afterwards. But the magnificent here and how of life in the flesh is ours, and ours alone, and ours only for a time. We
ought to dance with rapture, that we should be alive and in the flesh. and part to the living. incarnate cosmos. I am part of the sun as my eye is the part of
me. That [ am part of the earth my feet below knowthe perfectly, and my blood is part of the sea. My soul knows that [ am a part of the human race, my
soul is an inorganic part of the great human soul, as my spirit is a part of my nation. In my own very self, I am part of my family. There is nothing of me
that is alone and absolute except my mind, and we shall find that the mind has no existance by itself, It is only the glitter of the sun on the surface of the
waters. -- Apocalypse, 1931.

41. By Triumph the author means:

a. Sin

b. Loss

¢. Sorrow
d. Victory

Answer. d

42. When the dead look after the afterwards the living should look at life:

a. Forever

b. For some months

c. For only a short while
d. In the past

Answer. ¢

43. By rapture the author means an emotion involving great:

a. Trepidation
b. Thrill

c. Fear

d. Joy

Answer. d

44. By the last linee, "It ................ Waters," the author means that the mind is only:

a. A mirage

b. An illusion
c. Magic

d. A reflection

Answer. d



45. The tone of this passage is:

a. Social

b. Moral

c. Reflective

d. Philosophical

Answer. d

46. The most suitable title for this passage would be:

a. The surface of the waters.
b. My Mind

c. The Human Race

d. Allive and Kicking.

Answer. d

essay 2 eng :

Now India's children have a right to receive at least 8 years of education, the gnawing question is whether it will remain on paper or become a reality. One
hardly needs a reminder that this right is different from the others enshrined in the Constitution, that the beneficiary - a 6-year-old child cannot demand it,
nor can she or he fight a legal battle when the right is denied or violated. In all cases, it is the adult society which must act on behalf of the child's right to
cducation when denied, no compensation offered later can be adequate or relevant. This is so because childhood does not last. If a legal battle fought on
behalf of a child is eventually won, it may be little use to the boy or girl because the opportunity missed at school during childhood cannot serve the same
purpose later in life. This may be painfully true for girls because our society permits them only a short childhood, if at all. The Right to Education (RTE)
has become law at a point in India's history when the ghastly practice of female infanticide has resurfaced in the form of foeticide. This is 'symptomatic of
a deeper turmoil' in society which is compounding the traditional obstacles to the education of girls. Tenacious prejudice against the intellectual potential
of girls runs across our cultural diversity and the system of education has not been able to address it.

47.

With reference to the passage, consider the following statements: 1. When children are denied education, adult society does not act on behalf of them. 2.
Right to Education as a law cannot be enforced in the country. Which of the statements given above is/are correct?

a. 1 only

b. 2 only

c.Both 1 and 2
d. Neither 1 nor 2

Answer. d

48.
According to the passage, what could be the traditional obstacle to the education of girls? 1. Inability of parents to fight a legal battle when the Right to

Education is denied to their children. 2. The traditional way of thinking about girls' role in society. 3. The prejudice against the intellectual 'potential of
girls'. 4. Improper system of education. Select the correct answer from the codes given below:

a. 1 and 2 only
b. 2, 3 and 4 only
c. 1,3 and 4 only

d.1,2,3and 4



Answer. b

49.
On the basis of the passage, consider the following statements: 1. Right to Education is a legal right and not a fundamental right. 2. For realising the goal

of universal education, the education system in the country must be made identical to that of developed countries. Which of the statements given above
is/are correct?

a. 1 only

b. 2 only

c. Both 1 and 2
d. Neither 1 nor 2

Answer. a

50. Which one of the following statements conveys the key message of the passage?

a. India has declared that education is compulsory for its children.

b. Adult society is not keen on implementing the Right to Education.

c. The Right to Education, particularly of a girl child, needs to be safeguarded.
d. The system of education should address the issue of Right to Education.

Answer. ¢

51. Which one of the following statements conveys the inference of the passage?

a. The society has a tenacious prejudice against the intellectual potential of girls.

b. Adults cannot be relied upon to fight on behalf of children for their Right to Education.
c. The legal fight to get education for children is often protracted and prohibitive.

d. There is no sufficient substitute for education received in childhood.

Answer. d

essay eng 3 :

Directions for the question : In each of the following sentences, four options are given. You are required to identify the best way of writing the sentence in
the context of the correct usage of standard written English. While doing so, you have to ensure that the message being conveyed remains the same in all
the cases.

52. The reason I came late to office today is because my car broke down.

a. The reason I came late to office today is because my car broke down.
b. Why I came late to office today is because my car broke down.

c. The reason I was late to office today is because my car broke down.
d. The reason I came late to office today is that my car broke down.

Answer. d



53. The soldiers were told to take a long arduous hike, pitch their camps, have dinner, and that they should be in bed by 10 p.m.

a. The soldiers were told to take a long arduous hike, pitch their camps, have dinner, and that they should be in bed by 10 p.m.
b. The soldiers were told to take an arduous hike, pitch their camps, have dinner, and that they should be in bed by 10 p.m.

c. The soldiers were told to take a long arduous hike, pitch camp, have dinner, and be in bed by 10 p.m.

d. The soldiers were told to take a long arduous hike, pitching their camps, have dinner, and be in bed by 10 p.m.

Answer. ¢

essay eng 4 :
Directions: In each of the questions, a word has been used in sentences in four different ways. Choose the option corresponding to the sentence in which
the usage of the word is incorrect or inappropriate.

54. ACT.

a. When you read a story or a poem to your child, act it out with him or her.
b. This computer's acting up again

c. The children were acting over because their mother wasn't there

d. The script itself is well written and well acted out by the cast.

Answer. ¢

55. Hand.

a. He was handing out free tickets for the concert.

b. The minister handed in his resignation when it was known that he was implicated in the scandal.
c. Have things changed since the hand over of sovereignty from the British to Koreans?

d. Hand up your coat and come and join us.

Answer. d

56. Ali's horse is of an excellent........................

a. brood
b. steed
c. breed
d. stood

Answer. ¢

57. The presidenthas ................... To the demands to release secret documents related to the army.

a. acceded
b. refused
¢. endorsed

d. incited



Answer. a

58. Martin Luther strived for justice and fought against attempts to ................... Ignorant peasants in the medieval ages.

a. Influence
b. change
c. exploit
d. corrupt
Answer. ¢

59. Author Anjali Aggarwal was a rare phenomenon, a single woman who maintained and even .............. A respectable reputation while earning a living
by her pen.

a. impaired
b. decimated
c. avoided
d. enhanced
Answer. d

60. (A) Handsome in his tuxedo. (B) Lanky at his high school prom. (C) Matthew with the striped kitteen-had he been five? (D) At ten-smiling in his
yellow soccer jersey. (E) Throught the TV replays of the collapsing Trade Towers, Michael's glance shifted from one framed photo to the next.

a. ECDBA
b. ABCDE
c. ECBDA
d. DABCE

Answer. a

essay 5 :

Ty - Trét femnfader:

iwwmﬁaﬁiﬁwzﬁﬁwu%wawwﬁam 17 7 7dd Ui U T,

SIegT T U 9.10, 9.20, 9.30 Vb of 9.7 Jabvald UM YAt U el dherean iR sifer Yo wu=f drard degT o *rid gof vard. s
Sfyefied 1 (Fatd 3TaM) o 7 (Faid §@) ¥& fed 9.

e sffafve Hifed J1d 3ire:

(i) ST shHich 31O Ikt Halle UQUITE a1 169 318 Wil ek Uhard .
(ﬁ)aﬁmwmwmm?ﬂ@mmaﬁm 3{TE 31T ol Teharal .

(ifi) TR U1 ST Team 31for §oft = 81 =1 ¥t el . (iv) faoicaiet 9 am . ufgean yrauguen S,

61. T JUITT YTGUCHT S HHID 3R

a.3
b. 6
cl
d.5

Answer. b



62. FBIX HHI® g FHBIR 3Te:

d.3

Answer. d

63. fBiex wH® faaT HHiS 3R:

b.3
c. 1l
d.2

Answer. d

64. {8 HHIE Ygc 3MMg:

a. 7
b.2
c.5
d. 1

Answer. b

65. YTIUIRT S5 HIP el Gl U 3T5:

Answer. a

66.T% T TS AT 94 Sl 1A Ta0dl R, FF AR 120 TEH W IAH JHSIHG I o). fdt dwF ghe e Saed Aea?

a.2
b.6
c.4
d. 70! e e

Answer. b



67.

e Tret fe=nfAd s @relia e usrd i faum faelt smea it @R IR e waie 1, 11, 11 3nfor v i3 emed. feaeh & faum
I AT AT SR o = JTd aaieh i ared Srcl aiig. e ey g ST SR Ard: I aihs gad b o]
faemitet S Fsmy arfdh e R SITERU HRard o oal.”

1\3@; (A) 9 v o 311Rd (B) FTe! Rerar v $ied (C) d g e

5. 1. 99 Aa Q3N 3118 11 HTe! H1-d Wrerd $iTed 111 HTet g3y TRt
3R 1v. 94 &1 4oy 3med

a. Bl [ Biel &l

b. wad 1T SFIER0T FHRal

c. B T 3f1for 11 wrell et
d. B TIT SIER St

Answer. d

eng 6 :
ﬁﬂ?ﬁ@ﬁ%mzWumw%ﬁm,wmmﬁmmmwmmﬁmmm

68.

(A) 94 HiTesarft WA WATd (B) & TrES WTaTd o Td FBaRit AT6ld (C) o Qe Qrdrd d 94 MHRRT 3R (D) 9 TSI dids HiTeiy
3R (E) O 1S WIATd o 4 HIATERY 318 (F) HTSdR 3ed MHTRy

a. BCE
b. ABE
c¢. ACD
d. ACF

Answer. d

69.

(A) Td HHBHI o STRd (B) Hd HHBII 3 T8 (C) A 3¥eied] §d I ol 3MTed (D) Hd FSUI HHS 3MTed (E) §d Fgui 3Hd
31TE (F) BTET Hes T Pl 3MTed

a. BEF
b. BCF
¢. BDE
d. ACF

Answer. ¢

70.
%%%?WBT%W (B) BTE! B IT SR (C) DT ] foaTes SHATd (D) el THAN fFaTes] (E) PTe} I61e1 fgaiest Tl (F) T Ig1ed
3drd

a. DFA

b. BEF



c¢. CEB
d. DEB

Answer. a

71.

%\iga‘ &;e%l%ons 39 IS (B) WA falcons TS 3ATed (C) T4 falcons Ul 3MTed (D) Td Ueh figes 3med (£) 9 el dgMad 31d (F) d falcons

a. ABC
b. CDF
¢. DEF
d. BCA

Answer. b

72.7, 28,70, 140, 2

a. 240
b. 250
c. 245
d. TP PR G

Answer. ¢

ESSAY 7

gyiadt femnfaden

T ST ST Wretie Anfget ar:

E + F UM E 81 F 91 HTS 38, E x F T§UNS E F =1 fUar 31mg.
E-F TeUISI E 81 F < 98107 3178, E/F U E Bl F 3 3MTS 3R,

73. SR P+Q-R x S, AP ET S 378,

a. (TSl
b. TTET 3{TST
¢. ATaRit

d. SEI0T

Answer. Bonus is awarded for this question to all the candidates

74. T w I 3ol ST Wicheites! HId aiad?

aTxU+V/W



b. T+U-V/W
c¢.T+U/VxW
d.T/U-VxW
Answer. d

75. % AU Ibs dre, anTa, df 10 Hex Fraar oifdr G are Iudices gesdl, 5 Hiex aredl S gRT Idide g@dl ST 10 Hex aradt o7 Srdiee
go&dl, 7 Hiex =1adr 3fdr GR Isdibs Jesdl. U1 TR I dis v oA 3me?

a.qd

b. e
c. 3
d. ¥

Answer. b

76. SR wERn Oy @iensd 'GIRISH! fafgar i@ @R 70 i1 'RAM' fafgen ofid@ R '32'. @ HifeT YT 'PIKU' o1 HIe S 3{4mar?

a. 57
b. 55
c. 56
d. 58
Answer. a
Mid-year prices of essential commadilies
B0
70 :‘
80
. -+~ Rico (kg)
< # 3 I--|E>:!|:E|km| (ka)
@ -~ Edible oil (kg
§ i - Eqgg (dozen)
* 30 =¥~ Chilies (ka)
-3 Onion (kg)
20 4 —_
10 -!
|
ESSAY 8 : 1996 1997 1998 1999 2000 2001 2002
: . o
Ty TSt fERMe=T - Wreftet e WeR et Seream STUR Ui I am: '

77. 1996-2002 TR, Y Faae TdheR a1g ST fFAcaes TgHor ue Hefid HRuMN et et i,

a. 1 and 3.
b. 2 and 4
c.4and 2
d.5and 1

Answer. ¢

78. ANIATS &I fohar 3ifies Y forriid BT STie a% ST 318,



a.2
b.3
c.4
d.5

Answer. d

79. T HIaadTd Had UHerd fhid SRR HIV axd! [hHd dle!?

a. diges, TRIAA 30T S5
b. 3l MM Sres

¢. e ial

d. 3 anfdr wfar

Answer. d

ESSAY 9 :

Ty - 1t femmfAcr: wrelia urg =1 faematear 9d v frarmarnie armRE faRor (siiqe) exifaa.

Others
60°

80. Tl YMST TTITA dosTl TahaR] 3R,

a.37%
b. 30%
c. 40%
d. 27%

Answer. b

81. . U= gaid o Waiaed fardt dos araadn

a.30%
b. 35%
c. 25%
d. TP P A1

Answer. ¢



82.

TR M RIS BTHZASTE des T UTead il SR fhardaraiaed Tdd Jfeedr, SYvare dad cabar! HH gld (THsT 94 sffafked 79
9% U d HH Bed SHTEl 31T5):

a. 15%

b. 12.50%

c. 20%

d. et S e

Answer. b

83. TMMeSd AT TR HIHId UTadcied dad (ARITHE) ST B 3He?

a.2
b.3
c.4
d.8

Answer. ¢

84. SR T GUTSTET /3 G 3c5 TIIOTATd ITada Ok §1dh o1 [ Hed o) TeUTaTd areacied] e Se:

a.l
b.2
c.3
d.4

Answer. b

ERT:
Directions for Questions :Refer to Table 9.1 and answer Questions 1-5.

85. 1999-2000 31O 1994-95 Hefid YearHe Hafftids cabaRidd dad Bl fAURTgR UERid suard siran

a. 3T Har



b. fafa
¢. AENMe Iared
d. 5e& @ik GDP

Answer. a

86.

TR ¢ (ATATa-fafd W uieHTid) 7 SRl STRd 95 10Tl auiere! =ifaar e (3R T8id R1 &1 1993-94 Ted ST 10,383 HICT It
3oy fafd 5,427 SIA Bt )

a. 1996-97

b. 1998-99

¢. 1999-2000

d. 3T Ad AT

Answer. ¢

87. 1994-95 2T T&Id 1999-2000 AL et v e Teataedt 50% e SIRa are gxifaeh oimg?

a.2
b.3
c.4
d.5

Answer. b

88. 3o e SRIfAA SMHd! Id e aTfies a1 &R ST aR U 3 d STk H1 HaTel Srya?

d. 4

Answer. b

89. SR 1993-94 AL T STFOT el TJORR 1.8:1 B1, TR 1996-97 21 Qa e g TT0T faheht Sy

a. 1.8:1
b. 1.86:1
c.2.1:1
d. 1.91:1

Answer. b



Table 28.1 Projected Food Grain Requirements—Global

and US
{Demand in billion kifogram)
2005 2015 2025

World  America World America World  America
Wheat 100.0 8 140 20 160 30
Rice &0.0 1 B0 3 100 10
Gram 100.0 8 120 10 150 20
Corn 200 1 40 2 50 2.6
Pulses 20.0 2 20 3 40 4.0

ESSAY 10 :
. Total 300.0 20 400 40 500 66,6
Ty - Tt femnfAdsr: snarg qear 28.1 3o @ @l fedien uyiE SOv .

90. 2005 o 2025 TT HTATAEN THUT SAUTATAT ANTUITE 10T SAUTAT THIUT T gedt 3MTg?

a. Tig®
b. ORI

c. B

d. IO PTG ATG

Answer. d

91.

a@%ﬁvﬁw&n%mﬁwzoos-zozs T Hramaelid THUT 3= ARTUR G101 fRRR I1fed, TR SMRdb=ar TR uT 3 ARTUEE HIvT FHTor
?

a. gXHI
b. B
c. T
d. dig®

Answer. d

92. 2005 T 2025 T HIBIT ST M1 SARBT AT ST SR THUT AT HRTUTRT 60% Ve SR UT=d B i = quf sefra?

a. g 3M1fYT dige
b. Tg 01 GRRT
c. diges Snfdr st
d. e PR TR

Answer. b

93.

;1%9;05 30T 2015 TT HTATGELRT PIUIGT YTATHT HRTUN a1 SITa 3T 2015 O 2025 TT Hreadid ST 311 3fmReT a1 g iamd] Sivr YA ge

a.7g
b. Tig



C. BXWRT
d. T HEE e

Answer. a

ESSSAY 11 :
TATST femmfaeer: WTelier e T & (aaar 19.1)  Noda (Grade Al

94.

oft famar sftarea g1 25 AR TURTI AR TdAUE HRITHT ST 1000 TRY FeTal T fbdt HHTd grRaaer a2 (Rgeh-ar @t 25 /@
JUT §Ad 311.)

a.l
b. 6
.7
d. aret S e

Answer. d

95. TS Tafed WU Hed/dl. Fe JRTaT 3MTe:

2. BB WS, THIE

b. AER R, st et
. Td fiRR (I8 ©)
d. 3aar 3 A

Answer. d

96. Y& Rfd Faedr &t} Tatd TR YU HIS/ARY e ST HHt THTeT UIS/ARY e i IR 3Te:

a.25
b. 20
c. 15
d. 3adr 3 A

Answer. d

ESSAT :
Ty : I3t fO=cr: 3 Uy Wreiter ATfgeiar Semia Sgd. o= g e Jars TTaad 3Med, T1HhId F I8 B JIaad 3HTed S ardbte
TG AUTHRT T TR, STl HIF 64 T U0 THURY JhSAH BIUT Tl 3T SATHE HHIT HH! GHIH e 3.



97. GIF e WiE T8 qohsdid! foh AT ST T fohell 3iTg?

a. 18
b. 21
c.24
d. 26

Answer. d

98, AR P eaTdl SR ST THTSH AT bl 3MTg, SR SRkt SR Uab 1T 37?2

a. 32
b. 12
c.24
d. 38

Answer. d

ESS :
feanfder () wrelia udies v, fecieat Tafaime et See/reaiel Sie/ARe/3ieR e FasT,

99, G : Gava : : G : 2

a. Ml
b. afeit
c. FgI
d. 3m$

Answer. a

100. 3RTAT: B : : 2 2 A

a. qedH

b. SrEeSt

c. SISt

d. ke

Answer. ¢

Test Answer

1. (d) 2. (b) 3.(b) 4. (a) 5. (a) 6. (b) 7. (b) 8. (b) 9. (b) 10. (a)
11. (b) 12. (¢) 13. (b) 14. (c) 15. (d) 16. (b) 17. (d) 18. (c) 19. (a) 20. (¢)
21. (c) 22. (a) 23.(d) 24. () 25. (c) 26. (c) 27. (b) 28. (c) 29. (b) 30. (d)

31. (b) 32.(d) 33. (a) 34. (b) 35. (a) 36. (a) 37.(b) 38. (b) 39. (a) 40. (c)



41. (d)
51.(d)
61. (b)
71. (b)
81. (c)
91. (d)

42.(c)
52.(d)
62.(d)
72. (c)
82. (b)
92. (b)

43. (d)
53. (c)
63. (d)
73.(Bonus)
83. (c)
93. (a)

44. (d)
54. (c)
64. (b)
74. (d)
84. (b)
94. (d)

45. (d)
55. (d)
65. (a)
75. (b)
85. (a)
95. (d)

46. (d)
56. (c)
66. (b)
76. (a)
86. (c)
96. (d)

47. (d)
57.(a)
67. (d)
77. (¢)
87. (b)
97. (d)

48. (b)
58. (c)
68. (d)
78. (d)
88. (b)
98. (d)

49. (a)
59. (d)
69. (c)
79. (d)
89. (b)
99. (a)

50. (c)
60. (a)
70. (a)
80. (b)
90. (d)
100. (c)





